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Note :  Answers may be written either.in English or in Hindi; but the same medium should be

used throughout the, paper.
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The paper is d1v1ded in three Sections. Questions from each Section should be attempted together.

All questions are compulsory Marks are indicated against each guestion.

Wm—wm@@ﬁﬁﬂﬁa%imw%ww
w a9 T w1 et ww e €
Cud% W @ T 3T T T ¥
Section A |
'_(@3 ‘a1
1. (a)_ Show the relationshjp between total revenue, 'marginal revenue and price elasticity. 5

- P.T.O.




(2) 512
(6) Define elasticity of sup'ply.:.Prove f_hat.the elasticity of supply on a straight line

s’uppI.y curve passing through the price-axis is greatef than one. 5
(¢) If the demand function is given by :
Q = 7 ~ 10 Px and
" supply function is given by
| qQ = 200 + s0py | o
find equilibﬁurn price and quantity‘ } _ | S 5
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| Q=70 - 10 Px 3R
.Qs = -200 + 80Px
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(3teram)
Prbve that two 'intersecting straight line demand curves have diffe;ent price
elasticities " at the poin;c céf inte,rsc;:tion. = | 5 L
_Frn;m the supply schedule giv.en- below find -price' elasticity of sqpply t;or a
movement from : |
() Point A to.C

() C to A and

(i) Midway betw.een A and C. ‘ - 5
| Poiqts © Price . - Qx'
A 6 2 600
B 5 550
c . 5 450
D ) o 3 ' 300
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(c) Calculate Cross-Price . elasticity of demand from the data given below

comment on the relationship between the two -
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and

Béfore After.-
Goods Price Qua'n'ti'ty Price * Quantity
‘Tea (X) 20 40 20 50
Coffee (V) 40 50 60 30
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(i) A R c# @ e AM |

EEEH kS o,
A 6 600
B 5 550
C 5 450
D 3 300

512

NCOE I T HES § " & WY (Cross-price) W HI UM

A sk A @ ww wew W Rai wfwg

=3 v
TE (X) 120 40 20 50
IR (Y) 40 50 60 .. 30

2. (a) Explain price effect is summation ‘of income effect and substitution effect in case

of a normal good. . ' : | 15
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(b} Attempt.any three :
Draw indifference curve When :

-({)" One good is bad and -the other is . good

(i) When both' goods afe bad
(i) When both goods are perfect rsubstitutes'

1
[

(iv) When both goods are perfect .complements
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(¢) Ram’s budget line relating ;o ;good‘ X and good Y has intercep.ts of 40 units
: of .good. X and 2(-}-units of goo"d Y. If‘price of good X is ¥ 8.00
v&hat is Ram’s income .? Caiculate the price of good Y and the siope of the’
: budget'line. | | - , S 7.5
() What 1s the relatibnshipl' between' the _‘slope of price ‘consu'mption curve and the
glasticity of demand ? . | . - ‘ 7.5
(a)wxﬁﬁWYﬁmmﬁwi@wxﬁm
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Section B
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(@) A product can be produced by using inputs labour and capital and firm’s output

position indicates MP, = 3, P_ = % 1,00, MP, =6 and P, = ¥ 4.00. Is
the firm employing cost minimizing combiriation of input capital and labour ? If |

not, what should the firm do ? | : 75

(b)) Draw the expansion path when producer gets constant returns to scale. Derive

lbﬁg tun total cost curve from this expansion path.” . ' ' 7.5
(a)wmﬁmmﬁﬁqﬁwmm@mﬁam
W owEE § e wd A feaft ged @ ¥ MP, =3,
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(a) Explan the three stages of | pfoducﬁ_on. In which stage. bf production will aArational ‘

producer produce and why 7 - L : ‘ ‘ 7.5

(b)) How does the producer choose the optimal input combination to minimize cost

subject to a given level of output ? ' 7.5

() A ® 99 WO W A FNC TR F R oW W W
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- (ﬁ) From the following cost function,

TC = a + bQ + Q% wheré.a, b and ¢ > 0..

Ll

Find :

TFC, TVC, AFC, AVC, AC and MC. | 75

P.T.0.
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_(5) 'Diétingui-sh between - ._
(@) ' Accounting cost and Ecorionﬁc Cost. . o | 2.5
(iz) Explicit cost ’and- Implicit cost. : - 2.5
l(iil) Sunk cost ‘and Fixed cost. -‘ : | | 2.5

(31) Freifra amaw q
.TC_ =+ bQ + Q@ W g b 3R ¢ >0
Gl AL [SUIED] E |
| .TFC,: TVC, AFC, AVC, AC 3 MC.
. @_’) FY wIfg ,:- | |
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(@) Explain relationship between economies of scale and learning cufve. What do you

understand by leaining curve ? L | ' S A
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() Explain that long-run marginal cost curve is derived from short run marginal cost
 curves but does not envelope them. . : . 7.5
(37) aeRIes  fqeafam  (Economies .of scale) 3 fer™ 9% (Learning curve)
?nwmmaﬂqml WW@WWW%7
(@) su @i R e W ar ¥k, TR HEE @
aF ¥ @ wEA AW % WG S IMIRA (Envelope) T RN
Section C
(@vs ‘¥
(;:z) If‘the firms are in short run equilibrium, will the competitive mdustry as a whole
be in eqﬁilibri_um in the long run also ? Discuss using suitable diagrams. 7.5

(b) . What is a subsidy 9 Explain how the benefit of a subsidy is split between buyers

and sellers in a competitive market. ' | 7.5
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- (@) How does a price ceiling by the Government affect producer surptus and

consumer surplus ? o ‘ ' 7.5

(bj If the demand curve is positively sloped, while the supply curve is negatively
sloped, at the point of interséction of the two curves, there would be both

Walrastan unstable equilibrium and Marshallian’ unstable equilibrium. Explain. 7.5
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